
Quantum-Atom Optics Downunder 

December 3–6, 2007 
Wollongong, Australia 
Novotel North Beach Hotel  

Housing and Travel Information  

This will be the first conference devoted to the overlap of Quantum and Atom Optics - providing new 
fundamental insights and experimental realizations of concepts common to both fields. This conference will 
bring together key researchers from across the world to discuss the latest results in areas such as:  

• Statistical effects and correlations in ultracold quantum gases - including BEC’s, atom lasers and 
degenerate Fermi gases   

• The generation and measurement of macroscopic quantum states  
• Optical entanglement and quantum imaging  
• Applications of atom-light entanglement including quantum communication  
• Quantum properties of lattices and periodic systems  
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About QAO Downunder 

December 3–6, 2007 

Meeting Topics 

This will be the first conference devoted to the overlap of Quantum and Atom Optics - providing new 
fundamental insights and experimental realizations of concepts common to both fields. This conference will 
bring together key researchers from across the world to discuss the latest results in areas such as: 

• Statistical effects and correlations in ultracold quantum gases - including BEC’s, atom lasers and 
degenerate Fermi gases  

• The generation and measurement of macroscopic quantum states  
• Optical entanglement and quantum imaging  
• Applications of atom-light entanglement including quantum communication  
• Quantum properties of lattices and periodic systems  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Program Committee  

Hans Albert Bachor; Australian Natl. Univ., Australia, Co-Chair 
Kenneth G. Baldwin; Australian Natl. Univ., Australia, Co-Chair 

Rainer Blatt; Univ. Innsbruck, Austria 
Joel Corney, Univ. of Queensland, Australia 
Crispin William Gardiner; Univ. of Otago, New Zealand 
Peter Hannaford; Swinburne Univ. of Technology, Australia 
Yuri Kivshar; Australian Natl. Univ., Australia 
Peter L. Knight; Imperial College, UK 
Andrew White; Univ. of Queensland, Australia 

Organizing Committee 

Peter Drummond, Univ. of Queensland, Australia 
Wolfgang Ertmer, Univ. of Hannover, Germany 
Peter Hannaford, Swinburne Univ. of Technology, Australia 
Michele Leduc, Ecole Normale Superieure, France 
Ruth Wilson, Australian Natl. Univ., Australia 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



QAO Invited and Keynote Speakers 

Keynote Speakers 

QMA1, Rotational Bragg Scattering: Spinning Atoms with the Orbital Angular Momentum of Light, 
William D. Phillips1, Mikkel F. Andersen2, Pierre Cladé3, Kristian Helmerson1, Vasant Natarajan4, Anand 
Ramanathan1, Changhyun Ryu5, Alipasha Vaziri6; 1NIST, USA, 2Univ. of Otago, New Zealand, 3Ecole Normale 
Superieuré, France, 4Indian Inst. of Science, India, 5Los Alamos Natl. Lab, USA, 6Howard Hughes Medical 
Inst., Janelia Farms Campus, USA.  

QMA2, Two-Dimensional Transport and Transfer of Individual Atomic Qubits in Optical Tweezers, J. 
Beugnon, C. Tuchendler, A. Gaetan, Y. Miroshnychenko, H. Marion, A. M. Lance, M. P. A. Jones, Y. R. P. 
Sortais, G. Messin, A. Browaeys, Philippe Grangier; Lab Charles Fabry de l'Inst. d'Optique, France.  

QTuA1, Quantum State Generation in Many-Body Quantum Optical Systems, Diego Porras, Christine 
Muschik, Inés de Vega, J. Ignacio Cirac; Max-Planck Inst., Germany.  

QTuA2, To Be Announced, Daniel J. Heinzen; Univ. of Texas, USA.  

QWA1, Quantum Parameter Estimation with Cold Atomic Spins, Anthony Miller, John Stockton, Magnus 
Hsu, Orion Crisafulli, Gopal Sarma, Luc Bouten, Andrew Silberfarb, Hideo Mabuchi; Caltech, USA.  

QWA2, Mysteries of Quantum Entanglement: Why cos2α > cos α for All Values of α, Joseph H. Eberly; 
Univ. of Rochester, USA.  

QThA1, To Be Announced, Alain Aspect; Inst. d'Optique, France.  

QThA2, Quantum Atom Optics with Spin Polarized Atomic Ensembles, Eugene Polzik; QUANTOP Ctr., 
Niels Bohr Inst., Copenhagen Univ., Denmark. 

Invited Speakers 

QMB1, Ultracold Gases in Microgravity, Wolfgang Ertmer; Univ. of Hannover, Germany.  

QMC1, Number Counting in a Bose Josephson Junction, Joseph H. Thywissen; Univ. of Toronto, Canada.  

QMD1, Quantum-Opto-Mechanics: From Laser-Cooling to Quantum Entanglement of Micromechanical 
Systems, Markus Aspelmeyer; IQOQI, Austrian Acad. of Sciences, Austria.  

QMD4, Storage of Quantum Variables in Atomic Media, J. Cviklinski, J. Ortalo, V. Josse, A. Dantan, M. 
Pinard, A. Bramati, Elisabeth Giacobino; Lab Kastler Brossel, Univ. Paris, ENS, CNRS, France.  

QTuB1, Quantum Degenerate Gases in Optical Lattices, Massimo Inguscio; LENS and Dept. di Fisica, Univ. 
di Firenze, Italy.  

QTuC1, Quantum Stochastic Heating of a Trapped Ion through Resonance Fluorescence, Levente 
Horvath1, Matthew J. Collett1, Howard Carmichael1, Robert Fisher2; 1Univ. of Auckland, New Zealand, 
2Technical Univ. of Munich, Germany. 

QTuD1, Quantum Aspects of Frequency Combs, Claude Fabre, N. Treps, G. De Valcarcel, G. Patera, B. 
Lamine; Lab Kastler Brossel, Univ. Pierre et Marie Curie, France.  



QTuD4, 171Yb+ Single-Ion Optical Frequency Standards and Search for Variations of the Fine Structure 
Constant , Ekkehard Peik, B. Lipphardt, H. Schnatz, I. Sherstov, B. Stein, Chr. Tamm, S. Weyers, R. 
Wynands; Physikalisch-Technische Bundesanstalt, Germany.  

QWB1, To Be Announced, Klaus Sengstock; Univ. of Hamburg, Germany.  

QWC1, Photon Anti-Bunching and "Hole"-Entanglement with Homodyne Detections, T. Symul1, N. B. 
Grosse1, D. J. Alton1, S. M. Assad1, Ping Koy Lam1, M. Stobinska2, Philippe Grangier3, T. C. Ralph4; 1Australian 
Natl. Univ., Australia, 2Univ. Warszawski, Poland, 3Lab Charles Fabry de l'Inst. d'Optique, France, 4Univ. of 
Queensland, Australia. 

QWD1, Schlieren Nanoscope in Atom Optics, Jules Grucker, Jean-Christophe Karam, Valja Bocvarski, 
Francisco Perales, Gabriel Dutier, Jacques Baudon, Martial Ducloy; Lab de Physique des Lasers, Univ. Paris 
Nord, France.  

QThB1, Extreme Control of Molecular States: On the Way to Super Chemistry, Christian Lisdat, Oleg 
Bucicov, Marcin Nowak, Sebastian Jung, Eberhard Tiemann; Inst. of Quantum Optics, Germany.  

QThC1, Ultracold Magnesium, Ernst Rasel; Univ. of Hannover, Germany.  

QThD1, Temperature and Degeneracy of Ultra-cold Bosons in Optical Lattices, P. Blair Blakie; Univ. of 
Otago, New Zealand.  

QThD4, Strongly-Correlated Quantum Gases: Atomtronics and Rotating Optical Lattices, Murray 
Holland; JILA and Dept. of Physics, Univ. of Colorado, USA.  

 

 

 

 

 

 

 

 

 

 

 

 

 



Agenda of Sessions 
 

Sunday, December 2, 2007 

6:00 p.m.  Welcome Reception  Illawarra Gallery 
Monday, December 3, 2007 

8:15 a.m.—8:30 a.m.  Opening Remarks  Illawarra Room 

8:30 a.m.—10:00 a.m.  QMA • Monday Session I  Illawarra Room 
10:00 a.m.–10:30 a.m.  Tea Break  Illawarra Foyer 
10:30 a.m.—12:00 p.m.  QMB • Monday Session II  Illawarra Room 
12:00 p.m.—2:30 p.m.  Lunch Break   
2:30 p.m.—4:00 p.m.  QMC • Monday Session III  Illawarra Room 
4:00 p.m.—4:30 p.m.  Tea Break  Illawarra Foyer 
4:30 p.m.—5:40 p.m.  QMD • Monday Session IV  Illawarra Room 
5:40 p.m.—8:00 p.m.  Dinner Break   
8:00 p.m.—9:30 p.m.  QME • Monday Poster Session I  Illawarra Foyer 

Tuesday, December 4, 2007 

8:30 a.m.—10:00 a.m.  QTuA • Tuesday Session I  Illawarra Room 
10:00 a.m.—10:30 a.m.  Tea Break  Illawarra Foyer 
10:30 a.m.—12:00 p.m.  QTuB • Tuesday Session II  Illawarra Room 
12:00 p.m.—2:30 p.m.  Lunch Break   
2:30 p.m.—4:00 p.m.  QTuC • Tuesday Session III  Illawarra Room 
4:00 p.m.—4:30 p.m.  Tea Break  Illawarra Foyer 
4:30 p.m.—6:10 p.m.  QTuD • Tuesday Session IV  Illawarra Room 
7:00 p.m.–7:30 p.m.  Pre‐Dinner Drinks  Ballroom Gallery 

7:30 p.m.  Conference Dinner  Ballroom 
Wednesday, December 5, 2007 

8:30 a.m.—10:00 a.m.  QWA • Wednesday Session I  Illawarra Room 
10:00 a.m.—10:30 a.m.  Tea Break  Illawarra Foyer 
10:30 a.m.—12:00 p.m.  QWB • Wednesday Session II  Illawarra Room 
12:00 p.m.—2:30 p.m.  Lunch Break   
2:30 p.m.—4:00 p.m.  QWC • Wednesday Session III  Illawarra Room 
4:00 p.m.—4:30 p.m.  Tea Break  Illawarra Foyer 
4:30 p.m.—6:00 p.m.  QWD • Wednesday Session IV  Illawarra Room 
6:00 p.m.—8:00 p.m.  Dinner Break   
8:00 p.m.—9:30 p.m.  QWE • Wednesday Poster Session II  Illawarra Foyer 

Thursday December 6, 2007 

8:30 a.m.—10:00 a.m.  QThA • Thursday Session I  Illawarra Room 
10:00 a.m.—10:30 a.m.  Tea Break  Illawarra Foyer 
10:30 a.m.—12:00 p.m.  QThB • Thursday Session II  Illawarra Room 
12:00 p.m.—2:30 p.m.  Lunch Break   
2:30 p.m.—4:00 p.m.  QThC • Thursday Session III  Illawarra Room 
4:00 p.m.—4:30 p.m.  Tea Break  Illawarra Foyer 
4:30 p.m.—6:10 p.m.  QThD • Thursday Session IV  Illawarra Room 
6:10 p.m.—6:25 p.m.  Closing Remarks  Illawarra Room 
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